ooooi1go 7

21 0JO0OOODOO

00000000000 0000 (vectodDJOO. 0000000000000
0000000 «000000.000000000000000000000
000000.000000000000000000000 (componentd 00,
ai,a0,---0000.n00000000 n000000 a= (aj,as, - a,) 00
00 |a|/0,200 000000 a,b0 00 (innerproduct], 0000000

Oooooooo.
la| = Za?, a'bzzaibi~
\ i=1 i=1

Oobo00booobooooog.

() 00000000000000.000 (a+b)i=a;+b;000.
l)a-b=b-a
2)a-(b+c)=a-b+a-c
3 a-ab=aa-b

() r000000 ay,as,-,a,0 1000000,7+1000000 a1,as,--,a,,b
0100000000,b0 @;010000000000000.

(3) 10000 2000000 a1,a,00,00000 (DODO 100000
Oo0O0o0oooOo)boo.

() 3000000 a=(-2,-1,2),b=(-4,-2,4),c=(3,1,0),0 00000
00000000000000000000000 VvOOO (@OoOoo)o
oo0oooooooo.

20020 40 150 (0O O0O)



ooooi1go 8

22 00OO0O0OO

30000b00oo0obo0ooboo0bbobobOobOoboUOoU 20bgboboooOo
gobooog

) 0000000,0000000000DO00DOO000ODOO

i) 0000000000 O0OoOO0OoOooooogon

Oo0o0omooooboobobooobooboobooo

oboobD 30000000 1,2,300000000000000 eq,eq,e3, 00
O (@©O0O0ooogoo'’'ooobogo)yooobgoo 12,3 0000oooood
e, e,,e; 00 00DDO0OODOOODOOO »rOO0OOODODOODOOOOOO

! ! /AN, !/
T = T1€] + Taey + T3e3 = T €| + Tyey + Tzey
ogoooano.

ooooOopoooDpOoOobDOoDOoOobOObOOoOo0obODDOODOOoOoDbODO
gb.0obboooogooobobboo

X 11 aiz2 A3 X1
/ _ 7

Ty | = | @21 G2 G23 Ty |, OO a;=e€;-€;
/

X3 a31 dazz G33 xs

000 e;-e;, 00000 e,0 e,0000000

(20000000000 ¢000000000000000000 Rs(6)0
R,($)O R (A))0O00000DOODODODODO

1)0 30 2)0 20 3)0 10

(3) 0000 Ry(9)0R(O)0R,(H)DOODOODDO

20020 40 150 (0O O0O)



ooooi1go 9

23 00O0OOO

100 n00000000000000000 10100 ¢0000. o(1) =
i, 0(2) =g, ++,0(n) =4, 0000 (i1,4s,---,i, 00000 nOO0O000DO),

(1 92 ... n)
o= L )

11 19 e Z'I‘L

Ooooo0ooobooooooooond

QoOoOO0ooODOo0ORDODDOOOODOOOO.

() 000000000000 (200000000)000000000.00
0000000000000000000000000000,00000
00000000000.(@000:n00 2,2, -,2, 000 [e;(zi — )
ooooo)

) s00000O00O0OUODODODOODOOUODOUODUOUOUODUOODUODOO
gogobobboodg.bb etdbOsgned cUDOOOOO 410000
g -10oboogdg.

1) n=3000000000000000000000O0ODOOOD

2) 00
1 2 e
n n—1 --- 1

gogoooon

20020 40 150 (0O O0O)



ooooi1go 10

24 D0000OO0ODOO0OOOO

nxnO0O A= (a) = (a1a2---a,) (000 ;0 nO000000O0)000OO0
det ADOOOODOODODOOOOO

det A = Z SN0 g (1)100(2)2 * * * Qo(n)n
Yo

oo oodououoooood
(1) k00000000
det(ay---ka;---a,) =kdet(a;---a;---ay,)
2)
det(a;---a; +a.---a,) =det(a,---a; --a,)+det(a,---a.---a,)
(3)
det(a;---a;---a;---a,) =—det(a;---a;---a;---ay,)
4) BODDODOOOnxnOOOODOO

det(AB) = (det A)(det B)

20020 40 150 (0O O0O)



ooooi1go 11

25 00 10000
(1) 20 1000000
{ a1171 + 1272 = by
2171 + G222 = by

gboobobooodudd, z,z 0

detD1 detD2
= To =
detD’ " detD’

Ooodoooooobo.ood0 D,D,D, 00000000000 0OO.
D:<CL11 a12>7 D1:<bl a12>7 D2:<<l11 171)'
Q21 Q22 by a9 as  bo

(2) 000 301000000

T

1171 + a12%2 + a13T3 = by
a91T1 + Q22%2 + Q233 = by
a3171 + a3aT2 + azzxrz = b

0000000 (zy,290,23) 0000000000,

R nOD00 10000
Ax = c,

oboOoooboob0 200 k000,000000O

1
detA

OOo0O0o(@opbooooOg).coooogooobooooobo.

T = Dk? Dk:|(a’17a’27.”7ak*17c7a’k+17”'a’n)|

31+t 23 +24=1
Ty + x2 + 223 + 424 =0
T3 — 3x4 = 2
203+ x4 =1

T+ 2o+ 23 =1
1) 3ry +4x9+ 813 =0  2)
4[L‘1+21’2+1$3:3

20020 40 150 (0O O0O)



ooooi1go 12

2.6

oboooogobogd

goooboooooboboooooo,bobobbooboobbbuoboogan
gbooooog.

) 1000 (0)0o0oooo.

i) 1000 (0)00000000 (0)0000.

i) 1000 (0)0000 (0)000000.

gogdbooboodgbbbboo,gbbobbboob bboboooboo.

(1)
(2)

3)

200 000000boobobooooo.

A0 200000,E,0n00000000.n,0000000000D0O0
00000000000 nx2n00 (A|E,) 0 ADDDOODOOOODOOO
oooooobo PO,O0 P, 00000O0O0OO0OODO0ODOOODLDOO,O
00 A'0D00D0000000@OD-0o0o0ooa).

(A|E,) — (PA|PE,) = (E,|PE,) = (En|A71)

00000000 0b0O0Db0oo0ogoD.o0d e#0,b#0,c#0000.

1 b 3 1 1 1

a

1)(1?)2) 01 ¢| 3 (1)(1)?43
001 0 0 2 1

mxnOO AODDOQOOO POODO
E,. B
O O

Oo00000000.000 E.0r0ooooo,BOrx(n—r)0d,oO
O0000D00.000 000 ADOD (rank) 00O ,r=rankAO0DDO.

Uddd 000t eddodooooogo
Ax = c,

000000000 oooOoood,rank(Ale)=rank ADDOOOOOOO.

20020 40 150 (0O O0O)



